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Thus, the list of the amounts of 1

1240. 1220. 1200, 1180
= 1220 — 1240 0
: 3
1500 = 12202 0
00 >0 and s0 0N

= 1180 =i

T a i i ;
Hence. the list forms an AP, ’ | I _'_'""_, =

r AL .xact requirement of the question .
I. Answer the following in one word, one sentence or as per l'h;; ¢ -l
() Write the next two terms of the AP : 1.19, 1.21, 1.23, Leads
(&) For the AP : 73 4.2 . write the common difference.
iy e Ay o
(#27) For the AP : q, 5, 13, 21, 29, ........ . write the value of a.
(v) Forthe AP: -2, 3,8, p, g, ........ . write the values of p and ¢-
2. Write the AP with given first term a and common difference d for the following
(Da=2,d=3 (Gi)a=-2,d=-3 (iiiya =17, d=-6
(V) a=73,d=02 (,,)“323_,#41 wi)a=42,d=-04
3. Examine, which one out of the following sequences is an AP. In case it is an AP, write next three termg
D=13-90, 7 d.10c (if)1,13,3,3—,.... (iii) — SN
iv) 75, 1 3 3 5= 5 5 5
19, 1.25, 1.75, 2.25, ..... (v) 1.1, 1.8 25032 (vi)p,p+ .12, p+ 24, p + 36, ...
w02t 2, 514 13
4 2 4 T (V!ll) _3_. _3_"!43 sessna (!‘x) a, 2a + 1, 3a + 2’ 4a + 3, o

(x)-\/3_ 1/_31/_ (x:)a+b(a+1)+b(a+1)+(b+l),‘...




